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Absolute	Value	Inequalities		
		
Section	I.		Solve	the	absolute	value	inequality	and	graph	the	solution.				
	
1.							 	𝑥	 > 5	 2.				 	𝑥	 ≤ 12	
	
															𝑥 < −5			𝑜𝑟			𝑥 > 5	 														−12 ≤ 𝑥 ≤ 12	
	
	
																							–5																						5	 																							–12		 					12		
	
3.					 	𝑥	 < −7	 4.					 	𝑥	 ≥ − .

/
	

	
														𝑛𝑜𝑡	𝑝𝑜𝑠𝑠𝑖𝑏𝑙𝑒	 														𝑥	𝑖𝑠	𝑎𝑙𝑙	𝑟𝑒𝑎𝑙	𝑛𝑢𝑚𝑏𝑒𝑟𝑠	
	
	
	
	
5.				 	𝑥 + 6	 < 8	 6.						 	𝑥 − 9	 > −15	
	
														−14 < 𝑥 < 2	 															𝑥	𝑖𝑠	𝑎𝑙𝑙	𝑟𝑒𝑎𝑙	𝑛𝑢𝑚𝑏𝑒𝑟𝑠	
	
	
																			–14																					2	 	
	
	
7.						 7𝑥	 ≥ 42	 8.					 −8𝑥	 > 56			
	
															𝑥 ≤ −6			𝑜𝑟			𝑥 ≥ 6	 														−7 < 𝑥 < 7	
	
	
	
		
																				–6																					6	 																											–7																						7	
	
	
9.				 3𝑥 − 8	 < 10	 10.							 4𝑥 + 6	 < 22	
	

														−/
.
< 𝑥 < 6	 														−7 ≤ 𝑥 ≤ 4	

	
	
	
																								−/

.
																				6	 																						–7																					4	

	



	

	

11.						 5 − 2𝑥 ≤ 17	 12.					 6𝑥 − 1	 ≥ 11	
	
														−6 ≤ 𝑥 ≤ 11	 															𝑥 ≤ − B

.
			𝑜𝑟			𝑥 ≥ 2	

	
	
	
																			−6																						11	 																								–B

.
																			2	

	
	
13.					3 −7𝑥	 ≥42	 14.						−5 8 − 𝑥	 < −35	
	
															𝑥 ≤ −2			𝑜𝑟			𝑥 ≥ 2	 															𝑥 < 1			𝑜𝑟			𝑥 > 15	
	
	
	
																							−2																			2	 																																	1																	15	
	
15.					13 − 𝑥 − 4	 ≤ 5	 16.						4 C

B
𝑥	 − 4 > 28	

	
															𝑥 ≤ −4			𝑜𝑟			𝑥 ≥ 12	 															𝑥 < −10			𝑜𝑟			𝑥 > 10	
	
	
	
																							−4																	12	 																								−10													10	
	
	
Section	II.		Write	an	absolute	value	equation	for	the	given	inequality.			
	
17.				 	18.				
	
	
																											 𝑥 + 3 ≤ 4	 	 	 	 	 2𝑥 − 5 < 9	
	
	
	
19.				 20.					
	
	
																											 2𝑥 + 5 ≥ 13	 	 	 	 	 𝑥 − 2 > 4	
	
	


